                                                КОНТРОЛЬНАЯ РАБОТА ПО АЛГЕБРЕ 8 КЛАСС  
                                                                              ВАРИАНТ 1            
1. Вычислите: 



А)  ;        Б) ;      В)      
      2. Упростите выражение: 




А)  где ;          Б)  где .


    3. Решите уравнение:           А) ;        Б) 
    4. Найдите значение выражения:




А) ;   Б) ;    В) ;       Г) .
5. Вычислите:



А) ;      Б) ;     В) .
                                                                              ВАРИАНТ 2          
1. Вычислите: 



А)  ;        Б) ;      В)      
      2. Упростите выражение: 




А)  где ;          Б)  где .
    3. Решите уравнение:


А) ;        Б) 
    4. Найдите значение выражения:




А) ;   Б) ;    В) ;       Г) .
5. Вычислите:



А) ;      Б) ;     В) .
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